A4 x ol diote] x -2 =3 - x> —V-9 +V-16 & a + bi T& 1}
Ehd W a+ b 9] B Tk

® -5 @ 2x-4 ® 2x
@ 2x -5 B 0



mo

I, F

—_—
o

B
T

ol

A B34y
T

e

)

a5

X

a+bi oA A Fig2

Z

2.

3 E

@ D

3 C

@ B

@D A






4.

x=1-+v3i g4, x2-2x+1 9 gte?

@D -3 ® -2 3 0



ol
fl

ol

.

OJAPL A A x2 — mx + 2m + 1

5.

@ 2 ® 0

@D 3



=00°] T

X -2x+k+2

w4

oA

®B 2

3 0

® 1



xoll Tt ol APEHA 22— 6x 4+ 2% -1 = 00] AE b2 £ A2g
71w, A% k0] ghe] WSl

D k<=2 @ -1<k<0 @ -1<k<4

@ k<5 B 0<k<b



8. oAAA 2% -6x+4 =09 F FZa, gL D W, o +5° 27

D -9 Q -2 3 0 @ 5 ® 13



w_a
__OH



10.

A a, boll ot a > b d o, o3 <H7]> 5 P JHot= A
n et
B
Q lal > |b| © a®>b?
@a2>b2 @1<1
a b
ORQ) @ O ® 9,6
® 9, 0,0 ® O, e,



11, -1<x22 1<y<3¥9 W a<x—y<bs AASIT b-a F
“FobH?

@D -14 ® 1 3) 3 @ 5 B -5



12. ESAax+1>2x+59 37Fx>2¢d o, A4



13. F54 x— 1+ x4 2/ < 95 W=k A5 19 Mee?

@ 47 @ 574 ® 674 @ 774 ® 874



14.

DO x<-3FE+=x>2
@ x<-1E=x>4

@ x<13:_%x>6

3]—031 OIX]_H ‘:/U X +x— 6>0% %Eﬂ?

@ x<-2EE=x>3

@ x<0EE=x>5



x2-2x+1>0

o =
AHFESA = THEStH

Voo i E TESHE A A
X< —9x — <

rr

@D 770 @ 871 ® 970 @ 107 ® 117



o_a

)

i(x + 2i)% o]

16.



17. 2 =-102t & uj, thg 5 A Boto] 947} El 50] A4k ?

-2, - V2, 2i, -2i
3i, =30, 1—-i, 1+1i

@D 170 @ 270 ® 370 @ 470 ® 570




18. (1+1)10 9] gre?

D 10-;i @ 4i B & @ 16i B 392i



19. 22-2V2x+2=0& =49

D x=-V2 @ x=1V2 ® x=0
@ x=4- 2 ® x=6



20.

OIRFR y = x? + (k- B)x + k O] T 27} x F} thiA] 9k2 o,
A4 ke o] ghe] W97

D -1<k<7 @ -1<k<8 ® 0<k<9

@ 1<k<9 B 1<k<10



21.

2K y=3x+2 4 ZEA y = x2 + mx+ 3 °] T HollA wtr] 9t
A m o H9IE oY

O m<-1,m>3 @ m<1l,m>5 ® -1<m<3

@ -1<m<5 ® 1<m<5



22. 2<x<2 oA By = +dxtk o HoiZto] 6 A 0, H:zt
29

ek

D -14 2 -12 3 -10 @ 3 &



23.

AP A] 3t 4 x3 - Tx2 - x + 6 =02 o] ©

D -3 ® -1 3 1 @ 2



24.

ARG A] Xt 4 3x% - 10 = 09] BE Ao F27

D -2 ® -1 3 0 @ 1



HH? (2o

25

o
=

o, ?® + @ o] gk

ol 22wt &

¥-1=097%

25.

e FeB il

L)
1

3 1 @ 2 ® 3

@ 0



y+z=3x-z=1

3x—y

s o (hhY

@ (1,1,1)



O x=2,y=3,z=4
® x=2y=3,z=5

® x=3,y=2,z=4

@ x=2,y=3,z=-4

@ x=2y=-3z=4



Lo

?_)‘H———E
Ly :
I
AR
(
x,y) 2
o=
14—
ﬂ-
m
™
?



Skl x+y

, yoll o

L
— X

3

=
=

s

<X
=

x> =3xy+2y2=0

® -3v2

@ 4

@D 32

® 442



o gre?

a

<
s

&

7 HE A,

S|

x+2<ax+39

Al
A

@ 1 B 2

3 0






32.

x2-2ax+2a+3<3

© OpE
=2 =

D 170 ® 370

Sh=x 7t =

® 571

Jpu



33.

O|ZFBE=A g2 + bx+¢ > 09 7} -2 < x < 1

cx? —bx —a > 0= W= g 22 9] A4 x 9] 4=1

@D 174 @ 274 3 47 @ 670

® 97§



xoll gt IR A @ — dx+ ka— 2%+ b = 0] k] Zko] BARLo]
F22 RS 8% 0.0 P AT W, a+ 50| §2?

D0 @ 2 B3 4 @ 6 B 8



2i 4 o, ab ©]

ol b+

ki

oA A 52 +4x+a =0 ]

35.

® -13 3 -12 @ -11 ® -10

@D -14






A] (x +x+2)? =x+x+4° F 5l

= a gt M, o® + 4



38. xO AAPEAA x3 4 pa? +gx - 105 = 0°] A Zo] RF 2K}t 2
Aed o, p+q9 FS F5HH?

@D 56 ? 21 A 10 @ =10 B —21



39. ﬂx}%}%ﬂ&x tax’ +bx-3=0° F Lol 14 V2i A f,
b O Fabe? (Hi=V-1)

@D 10 @ 5 ® 0 @ -10 ® -15



7
do|—| o
®A| B
=
Ei
o
ot
g AR
+ |sls
o
S
Mg
N |~
| %R
®|®
UE o or B
5 AT
ﬂemf_z.M
AR
op BK T =
TR
TN o N
T R ®A
PR N
<o
B R R A
TR E®
=)
<

LR

P 66 ol o] o, FoH o= |HA

(2)°ll oI5

=z
s

844olaL, A7

® 8 3 10 @ 12 B 18

D 6



F o 2P A ax? +4x+2 =0, x> +ax+ 1 = 0 ©] 27 5}1}9]
TETL BES ol A% a 2 S T2

5 7 5 1 5
©-2 @-; O @®-; O-



42. oJAetgy = 22 - 2x -3 O] L7} o] 247 y = 2x% - 2mx + 1 9
Jefm B A ofgfF o] Ao S of= Ao m 9] ghe] Hel=?
® -3<m<3 @ -3m<1
® -1<m<3 @ m<-1F=Em>1

B m<-1EY2y,>3



APR=A L7 T T o] Flo} BBA] gy 4 2bx — (a+ 2b) > 0
o] a7t A o, 2 o) gres
a

@ -3 @ -2 3 -1 @ 0 ® 1



44. B4 7 =a+bi(a,b: AF) o) St <z >= b + ai 2 FEPAT

‘”53’%1 T, 525 < 2 >4 9] ZHS TEHH?

=

® 3+4i @ 4+3i ® 5+4i

@ 54 3i B 4+ 5i



45.

[e)
ai, as, "'010—1:1—1—1_ - 9’] %}:—7}161

= X 1ag - ajp=1% o,
Vayvag - Vaio ol #ol d 4= e 8 T <E > oA BE
TEW? (Fi= V1)

H7]

@1 © -1 © i ® -i

ONQ) @ 9,0 ® 006

@ A, 0,0 ® O, 0 6,6



a,b,c 7t A1 @ 0l Al He] dolg yebd o, (a+b)x* 4 2cx+a—-b
© x 9 A FA o]}, °]

46.

,_._mo
~

® 7} HIHol 217



f(2x+3)=09 F

@ 2 ® 4

® 0



x2 - bx

ax —c

G

a+b

© ab @ a—>b

T mt1
,a#+b)
a->b
® a+b

@ a+b

-1 )
M= oA o] Aighe 2 B

® a-b

o
—



49. vy
gt

2+x
A T &2 A7

r°l'

@ 29Hgk, #5gko] st @
@ Zgko] Sold @
B FHdizro] &Z4o|t}.

+colMa>0,b%—4ac>0 L W,y ZHZL, <=7k



50. AAFAA x3 + (2a+3)x% - (6a+5)x+ (da+1) = 0°] T2 7HE
o, &4 a 9] g& F-oHH?

D a=2 -4+ V11 @ a=-2, -2+ 10
® a=3, -3+V5 @ a=1, 4+ V10

B a=-1. —2+22



